ot 1™l DE // BC ¢ ], x o] gk F-shojet.




t}e )4 BC //DE 7} HE= st AC o Zol= dntz A
Stofof st=717




oh& 170 AD & /A 9] ol 5EAelr AABD 9] Hol+ 12em?
olth. AABC 9] Hol+&?

@ 25cm? @ 30cm? @ 40cm?

@ 45cm? ® Ecm2



4. o2 194 AB//CD ©|tt. AC =18, BE = 5, DE = 4 & ,
CE 9] Zo]=?




5.

Th& I LL LABC oA LA © o5 410] BC 9 Wb 42
D2t & u, AB = 4cm , BC = 5cm , CA = 6cm 2} §toh o] o, x
o] o]

® 1.5cm @ 2cm ® 2.5cm

@ 3cm 3 3.5c¢m



AABC A AD & /A 9] o5 =A
AB//DE oltt. AB =9, AC =6 4 o
DE ©] Zo]& 5}

BN




7. o2 IgofA AD 7} £
AD //EC 2 o, o1 5 71 2 A2

@ /BAD = /AEC
@ (CAD = /AEC
® AB:AC=BD:DC
@ AB:AE=BD:DC

:D
3 AACE = "ArzFsolt}.

>
JQ
)
ol
£
R



8. RS 199 AABC A /DAB = /ACB, /DAE = /CAE & o, x




9. o2 I3 & AABC 94 /BAD = /CAD, /CAE = (FAE ©]11
AB = 9cm, BC = 8cm, AC = 3cm & 1], DE 9] Zo]& o}oqah

Qe -



10. o3 AtthE]E ABCD oA AD =
4cm, BC = 8cm ©|th. AD 9] dAA 919
A E o tiste] BE7F nABCD 2] Hol&
ol5=< i, DE ] Zo]& 5tH?




